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31) According to the Sustainable Development Report (2020), the top-ranked country on tht@f the SDG Index is

e feprzn fydié (2020) o sopie oA 31 il Ieics @ 33 Uz JAdice FAGMEAr S92 |
[Question ID = 1986][Question Description = S2_qSNz_PG_GP10_Q36] @

1. Bhutan/scrme
[Option ID = 7941] §
2. New Zealand/wsficivs

[Option ID = 7942] &

[Option ID = 7943] Q\

4. United Kingdom/eemses Reersan

[Option ID = 7944] Q

.
s not require direct contact with water but a host to spread?

32) Which one of the following waterborne dm
PrreiBaa 3 3 Rew sia sifora 361 & YR & &l 3um &6l o1l avel U aie (813e) &l stravaamar aidl 3 ¢
¥ qSNz_PG_GP10_Q37]

[Question ID = 1987][Question Descripti
1. Cholera/Zsn

[Option ID = 7945] 0
2. Malaria/s@fsxn
[Option ID = 7946] @
3. Trachoma/gmwen
[Option ID = 7947]
4. Schistosomiasis/

O
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33) Paris agreement entered into force when the instruments of ratification were deposited by at least 55 countries which o for, at leas
forgar 31 A syoran Redast yffrera seasion ol ardi on A aa 55 o1l a2 sepaasda @ gud S oel @ ae afya aasian gga g ? @

[Question ID = 1988][Question Description = $2_qSNz_PG_GP10_Q38]
1. 50% of global CO; emissions /A CO; wearstor @i 50 %

[Option ID = 7949] j . -
2. 55% of global CO; emissions /Ay COy srarskw wn 55 %

[Option ID = 7950]

3. 60% of global CO; emissions/@fgm CO; sk an 60 %

[Option ID = 7951] Q

4, 75% of global CO; emissions/#fkrr CO; scarskn an 75%
[Option ID = 7952]

34) Biogas has a calorific value of about

aridia a1 dveirfin awer cemet Rvaen & ? Oo
[Question ID = 1989][Question Description = $2_qSNz_PG_GP10_Q39] 4

[Option ID = 7953]
2. 3000 kcal per cubic meter/3000 F ey gffy e #ie2 Q
[Option 1D = 7954]
3. 2500 kcal per cubic meter/2500 Foder gfft ww a2 ¢

[Option ID = 7955]

4. 1800 kcal per cubic meter/1800 Fn dher it i e %\

(Option 1D = 7956]

35) Under which of the following agre ts decided to limit the increase in global average temperature to well below 2°C?
frsorférfiae af 21 Roar wasita o areflor al gfe @ 2° C 3 onbl offdl i st @1 Bk R sen an ?
[Question ID = 1990][Question D \ S$2_qSNz_PG_GP10_Q40]

1. Paris Agreement /if¥a smrsitin
[Option ID = 7957]
2. Kyoto Protocol /ereiiet qidrm
[Option ID = 7958] 9
3. Montreal Protocol/ s
[Option ID =
4, Rio Summit

2



31)

1 mm layer of pure ozone gas around earth at normal temperature and pressure is

equivalent to:
(1) 1 Dobson Unit (DU) (2 10DU
- @ 100DpU @ 01DU
AW AT A T O g % ot o S e A 1 mm v ¥ oA 3
(1) 1 2faEa i (DU) 2 10DU
(3 100DU 4 01DU

[Question ID = 1036][Question Description = 136_00_General_19_0CT22_Q36]
1. 1 [Option ID = 4141]
2. 2 [Option ID = 4142

32)  Match List T with List IT : Q

ListI
(A) Mist (1] sting of solid particles
(B) Smoke ] produced by condensation of hot vapours of metals
(C) Fume emical products of VOCs and NOx
(D) Smog Is consisting of liquid droplets

from the options given below:

(B) - dn. © —-av. @M — @
B) — aV). (C) —dDh. D - {M
(B)_UI)‘ (C)—{D. (D)_am

0%@ 10 &1 fgerr fifeny
g T —_—
6 i (firz) @ i fred S AR &

A
®) 9 () an e e Fion argsn o mi v & qaa 3w d)
0 (©) *m(¥H) (III) VOCS AT NOx % THm-TiHalHa 302
c"\ D) YE-Hren () (IV) et fomrs ovet famsr 1 #)
44 fov o Faredt & w8 390 %1 w79 Fifa

(2) @A-dp, B -a. (€ - av. M - @
@ @-a @ -av (© -danh O - d
4 @A-av, B -a, © -@O @O - dD

[ estion ] = 1037][Question Description = 137_00_General_19_0CT22_Q37]

" 2. 2 [Option ID = 4146]
3. 3 [Option ID = 4147]
4. 4 [Option ID = 4148]



33)

Given below are two statements: One 1s labeled as Assertion A and the other is labeled as
Reason R.

Assertion A:  Bottom ash generated into the boilers of the thermal power plants are major
cause of nearby river pollution. @
Reason R : The hotwater generated from thermal power plants are discharged into the
nearby rivers. Q
In the light of the above statements, choose the correct answer from the 'op%an
below:
(1)  Both A and R are true and R is the correct explanation of A ®

(2) Both A and R are true but R is NOT the correct explanation
(3) A is true but R is false
(4) A is false but R is true

A4 1 fawo “\OO

A A ﬁmﬁmfa@am(aﬁﬂwﬂz)%’cﬁmmm{m&w)ﬁmﬁﬂ%

WA T G FE A 2
*

FTR: AW frge T A, s YA At o Tt = T = 2

MW%Mﬁ,ﬁMME@%’ﬂwmmml

(1)

49@ption ID = 4152]

Amnﬁﬁmiégﬁmﬁwmi



34) .
Given below are two statements:

Statement I :  Chronic toxicity caused due to hazardous wastes is not difficult to determine. \
Statement II: Chronic effects may be seen immediately after the exposure. @

In the light of the above statements, choose the most appropriate answer from the o@Q
given

below: 0

(1) Both Statement I and Statement II are correct ®

(2)  Both Statement I and Statement II are incorrect OQ

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II 1s mrra:Q
414 Q1 &9 faomu 3y @

#4471 : Wﬁ%mmﬁmﬁm%@ﬁﬁﬂiﬁﬂmwﬁa?ﬁﬁt
. e

#4411 : ﬁﬁlﬁ%ﬂﬂﬁﬁm%i’@lmal

I F9H * e o, 4 faomm i 3R I A A b

(1) mmlmuaﬁ«‘éo

3 F=AI 94 11 7 B

(4)  wN Imed 2, a5 %eH I ad 2

4 [Option ID = 4156]



35)
What is the correct sequence of preparing vermi-compost?

(A) Introduction of culture of worms in to the pit.
(B) Lining up with straw or dried grass and leaves
(C) Water the pit once or twice a week @\

(D) Construction of pit of half square meter area and one meter deep Q
(E) Putting into pit the organic wastes as and when generated Q

(1) (D). (E). (B). (A). (C)
@ (A (). (D), (E). B) Q)

@  (®. Q. ®).(©). D) Q
@ D). (B).(E), A, (©) ,@

1 F2 @ (a8 Fome) F o @ ad sgEn =0 27 0
A) gz A FhE (aE) F wad B w0 )| ﬁko

(
(B) g mqﬁlaﬁaﬂtqﬁlﬁ%ﬁmmﬁﬂ@

Choose the correct answer from the options given below: &

(C) == B U AW WA AW I | T A,

(D) a1 9 dizw & AR O Hiz TR TR

(B) 7@ #n 3\ A s F= (s I 7 39 M2 | S
+ra fev o fasedi 4 & 5 3

(1) (D). (E). }®

(2) (A (). . (B)

(3) (0. D)
(4) (E). (A). (O)

tiom, ; = 1040][Question Description = 140_00_General_19_0CT22_Q40]
1. n ID = 4157]
% tion ID = 4158]

Option
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1)
Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. not as action by the
public itself, This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of public
activisim in influencing government policy can be particularly important in promoting the \
positive functions of the government. These positive functions include the provisions of @
public services such as health care, child immunisation. primary education, social security,
environmental protection and rural infrastructure. The vigilance and involvement of
public can be quite crucial not only in ensuring an adequate expansion of these ess b
services but also in monitoring their funectioning. Indeed the actual reach and a%

quality of the services that are meant to be, In principle available often depends%

voice heard. The shirking and absenteeism of village teachers for example afie
easily observed by the villagers themselves than by the government inspectd

search for redress can be more effectively achieved with local activis 1" ldses schools,
hospitals and other facilities can be made more sensitive to the pubil - Sed®t there 1s a local
pressure in that direction, better than the directions from the a b

TS | AT G de 36 g fEu e uwEl (46-50) #9130 )

A w4 | A A A S S e @t w0 g AHITEE FE TR A #5
o S rwrn ) el o i i @mmam-mhmmﬁm
T, 3 6 =39 S= g 1 e TR % B9 H PR Al e mﬁwﬁﬁwwﬁmﬁm*qﬁﬁ%ﬁ
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HEI A% TRa 1 A%e a1 Ewe ad Eem wﬁfnmﬁ%nm%ﬂaﬁam
SIHET BIAT 21 T F1 HEEA 791 IHH AEA 7 A
F74 § Ak 3% FE F A 5 f Fh e 7
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A TH1 W@, T HET § 366 a9 F @ w R e 2 o
S A1 A B ST T Rl S B e S e 8
 THNGGIFA T FFA 2 A FHEE AFAAEE 3 5 AEaE ANF TeE @ A 5 T
LB i THAT 7 A% 39 290 § T | T, WeH TaEE w4 H 5E 7

bring the social opportunities within the reach of the people?

e _govemment directives (2) Economie literature
\ Actions of the public (4)  Success of social change
S | A ) A T dE 87
(1) =70 & @9 (2)  wdvm weafm e

9 % 4 (@) I wiEda e

[Question ID = 1046][Question Description = 146_00_General_19_0CT22_Q46]
1 [Option ID = 4181]
2. 2 [Option ID = 4182]
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2)

Read the passage carefully and answer the questions that follow (Q. 46-50) :

Publie action. in a broad sense, can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. not as action by the
public 1tself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of public
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary education, social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also in momtoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, in principle available often depends a great deal
on the information that the local community gathers and the extent to which it can get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides, schools,
hospitals and other facilities can be made more sensitive to the public needs if there is a loc,

pressure in that direction, better than the directions from the above. 0

RIS ) HEE S 07 A 39 412 fau o v (46-50) 1 30 )
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[Question ID = 1047][Question Description = 147_00_General_19_0CT22_Q47]

3. 3 [Option 1D = 4187]
4, 4 [Option ID = 4188]
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3)
Read the passage carefully and answer the questions that follow (Q. 46-50) :

Publie action, in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the sconomic literature as action by the government. not as action by the
public itself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound signifi to the and failures of economic
and social ch.mge in general, and to development efforts in particular. The role of public
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary education. social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also in monitoring their funetioning. Indeed the actual reach and effective
quality of the services that are meant to be, in principle available often depends a great deal
on the information that the local community gathers and the extent to which it can get its
voice heard. The shirking and absenteeism of village teachers for exampleuemuchmore
easily observed by the wvillagers themselves than by the gov inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools,
hospitals and other facilities can be made more sensitive to the public needs if there is a local
pressure in that direction. better than the dirvections from the above.

I ] A T AT Wi (46-50) % 0 )|

A= fomrrm & wn mwf2 w1 @ AN AE mEE SEW wEEE ° A
g IR A AERET A § A A F SEm-avE @n gE o

=1 T T =9 F T e 3| 9% e TN 59 " WHE R S £ 96
T i fom % Fgio § wm F wwE A g W AE 2| A 'mfzfa‘fm

W wrreE w0t W w2 6 A il @ onfm =9 8 S ateaeE e e
1ol 1 FEAT 2| T SRR T § AR A w0 S e, A S, mates e,
Wi+ T, T ) T A A s et B 2 S o gk ae 6 wee v A
g = AETEE S F T AR 5 giEivan 799 8 9k 396 0 Fi e 8 o w0 gee
Tl 7| HEE SR S R i UEd o T TR g 9 0 wh w o SEE S
F T W AR 9 IEE A g A, 39 Ty 3 e G A e o e w2 smmond
A 5 faee A A e A e @ sEafean o Rl s s e A ge |
=35 Ui g A I R S T 2 h TR SEAAEe § T TeE A e e a g W
TEA B TE AR, WA, S 6 G A6 A WEAeE S F 0 6w
T ST W T & af T T © w8 96, 26 wEE = e

Adequate monitoring of public services is possible through :
(1)  Expansion of essential services (2)  Improvement in quality of services

ardafs fnsi 4 win e P e e 2
(1) 7T Fana & fFn ] (2)  Farsl F AW 8 3w E
(3) W AEET A g1

[Question ID = 1048][Question Description = 148_00_General_19_0CT22_Q48]
1. 1 [Option ID = 4180]
2. 2 [Option ID = 4190]
3. 3 [Option ID - 4191




4) -
Read the passage carefully and answer the questions that follow (Q. 46-50) :

Public action. in a broad sense. can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government, not as action by the
public itself. This interpretation can be seriously misleading as it draws attention away from
the influence that the public can have in determining the direction of governmental action.
Actions of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of public
activisim in influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary education, social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also in monitoring their functioning. Indeed the actual reach and effective
quality of the services that are meant to be, in principle available often depends a great deal
on the information that the local community gathers and the extent to which it ean get its
voice heard. The shirking and absenteeism of village teachers for example are much more
easily observed by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides. schools.
hospitals and other facilities can be made more sensitive to the public needs if there is a local
pressure in that direction. better than the directions from the above. Q

wreris 3 wrEargE e v aen g e fae e wei (46-50) w1 T 0
A 9 W s e A T weie w9 A A A A AW e iy

gfew e arm 21 wf-nf sdom 8 gfm o= 8 a s sem—ah

=, 3 T =9 F9a o0 1 W TR ¥ =9 O e e 21 92 =men i w0 w4 m

a4

= M eqm gEr Al T of fom ¥ fatm @ B oo g @ oA wE
HEICAFR i 1 A o e aw e ww 8 e v 8 {1
TEA 2| WOEN F TEOEGE FE F 95T 74 0 arwn £ 19 # mntaE w1 0 7 e =n

[ gEEgy 7 WEAT 2| T SHEAEEE R AEAAE T 9 T T, Mg S, maneE e,
TS AT, A G A A ST e v A N o FEE e w A
Fae T AETTF HATAl & YA e # gfbas +1 5 afer §ie
Al 7| wegd i dasi F1 avatars wa e e ; \
oM TR 1 W EEE A9 TR A a9 A6, 3 e § I A o O e e 2 e
E O e F wm A A I oaw w48 aaes et 1 staerrEA gewd e f a1
= T GRT WA | TR o A R o T W TR AAAE AT THE S A T W
TwA 21wk e, e, s N OEEEE SETEEAS % U b
gL A A1 G 2 95 38 . TAFE A 7 A

The effective quality of services upon making :

a1 wurl v fia g s 29

(4) O AT waE

[Question ID = 1049][Question Description = 149_00_General_19_0CT22_Q49]

3. 3[Option ID - 4195]



)
Head the passage carefully and answer the questions that follow (. 46-50) :

Public action, in a broad sense, can play a central role in economic development and in
bringing social opportunities within the reach of people as a whole. Sometimes public action
is characterised in the economic literature as action by the government. net as action by the
public itself. This interpretation can be seriously misleading as it d attention away from
the influence that the public can have in determining the direction of governmental action.
Actione of the public can be of profound significance to the successes and failures of economic
and social change in general, and to development efforts in particular. The role of public
activisim 1n influencing government policy can be particularly important in promoting the
positive functions of the government. These positive functions include the provisions of
public services such as health care, child immunisation. primary education. social security,
environmental protection and rural infrastructure. The vigilance and involvement of the
public can be quite crucial not only in ensuring an adequate expansion of these essential
services but also in monitoring their funetioning Indeed the actual reach and effective
quality of the services that are meant to be, in principle available often depends a great deal
on the information that the local community gathers and the extent to which it can get its
voice heard, The shirking and absenteeism of village teachers for example are much more
easily obhserved by the villagers themselves than by the government inspectors and the
search for redress can be more effectively achieved with local activism. Besides, schools,
hospitals and other facilities can be made more sensitive to the public needs if there is a local
pressure in that direction. better than the directions from the above.
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TS R AT TR A wE (46-50) %1 13|
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What does the passage advocate to make services sensitive to public needs?

(2)  Information gathering
(3) Government monitoring
(4)  Checking absenteeism among public employees

AT HEARE SRl # ufa Al 5 a3 F o e famm s 2
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31)
Which among the following pesticides would have the least chance of bioaccumulation in food
chains?

1. Chlordane
2. Aldrin

QQ}
N\
\\(b

Q)O
| wTe e 7 Frafifga 7 1 mww%w%m&ﬁ?

4.8

[Question ID = 576][Question Descriptien Q_GPM_SEPZZ_SZ_QBG]
1. 1 [Option ID = 2301]

2. 2 [Option ID = 2302] \\

3. 3 [Option ID = 2303]

4. 4 [Option ID = 2304] 0

Which of the follovlig isaged In the Sustainable Deveopment Goals?

Yerle at least 50% of coastal and marine areas.
ce by one-third of the per capita global food waste at the retail and consumer

%. 0 re_uce .y one-&h the prea_te mortality om no-communicable diseases.
\ Yo Ry wed # Ry € Rrge! aRes1 &1 87

1,98 2020 A®, & T HH 50% TE1T IR GHET &1 &7 G0
2.7 2030 7, T SR I 4T w1 O3 WA T A W 9T A O e T @ e

[Question ID = 577 ][Question Description = 137_0_GP16_SEP22_S2_Q37]

1. 1 [Option ID = 2305]
2. 2 [Option ID = 2306]
3. 3 [Option ID = 2307]
4, 4 [Option ID = 2308]



33)

Which among the following hazards can occur due to anthropogenic causes?

A Cyclones

B. Nuclear Disaster

C. Floods

D. Volcanoes

E. ForestFires

Choose the correct answer from the options given below:

1.A B and D only
2.B,Cand D only
3.B,DandE only

: el # 9 WET IR !

1. Had A B3R D
2.%49¢8,CHRD
3. %408, D IARE

[Question ID = 578][Question Description = 138_0_GP16_SEP22_52_Q38]

1. 1 [Option ID = 2309]
2. 2 [Option ID = 2310]
3. 3 [Option ID = 2311]
4. 4 [Option ID = 2312)



34)
Arrange the following water bodies in increasing order of the quantity of freshwater they hold:

A lce and snow

B. Freshwater |akes and reservoirs
C. Groundwater

D. Rivers and streams

Choose the correct answer from the options given below

2.B,C,D,A ®\

3.BDAC
4.D,BAC

%
S

mwﬂ@g:\n‘vﬂwmamﬁmwwﬁwn
A 5P o B &

B. ARTUHT &1 et 3R FoEve T &

C. YA e

D. et ofR wet- Rl

i Ry e Reed! # 4 gt IR I

2.B,.C DA
3.BDAC
4D.BAC



34)
Arrange the following water bodies in increasing order of the gquantity of freshwater they hold:

A Ice and snow

B. Freshwater lakes and reservoirs
C. Groundwater

D. Rivers and streams

Choose the correct answer from the options given below

ipBeA
2.BCDA @\

3.B,D,A C

4.D,B,AC QQ

o WA BT YRV & g W | Faiiiay oo Fem o1 srafiyg o -
(3T IR B @
B, TRITOH! @1 1 3R i &
C. YfAe 5l
D. AfRat R e umrd
R By e Reedt # ¥ wEt SR
2.B,C,D,A

3.BDAC
4.D,BAC



35)
Given below are two statemenits, one is labelled as Assertion A and the other is labelled as Reason

R
Assertion A: Most cyclones cause widespread damage in coastal areas, @\

Reason R: Energy of most cyclones increases after landfall, Q

I light of the above statements, choose the most appropriate answer K@'opﬁons given
below 0

1. Both A and R are correct and R is the correct explanation of A
2, Both A and R are correct but R is NOT the correct ex_pl,_an-at_ic-@
B Bk TAE TR foe — - A T

-- ._ s notcorrectbut R is carre:: ég
T By BRU U UF AfHHYT (Assertion A)wﬂ e 8 ol GUR1 39d BRI (Reason R)

%Wﬂ; .
YT A ARHTR T T Tead aF T R AGHH A& |

BRI R | WYAEIRY & 476 AfHaR @ SR IR
el o B mﬂﬁm@%ﬁ@mﬁmmwm:

Ll @a"taﬁ’rw%ﬂ
TN R, AT T @I 81 6 |

U
[Questi QBO][Questiun Description = 140_0_GP16_SEP22_S52_Q40]
1. 1 [OpNefiID = 2317]
2. 2 [Option ID = 2318]
3. 3 [Option ID = 2319]
4. 4 [Option ID = 2320]



40)

Given below are two statements \

Statement I: An ethical framework of sustainable deveopment provides normaﬁ&eance
regarding our relationship with environment. Q

Statement |I: Anthropocentric model is misleading as evident frtw&emdronmental
consequences,

Irv light of the above statements, choose the correct answer from @s given below

2. Both Statement | and Statement || are false
3, Statement | is true but Statement |l is false

4, Statement | is false but Statement |l is true i 0

TR ey R \
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Given below are two statements

Statement I: Prolonged (chronic) exposure to high noise levels (90-110 dB) causes only
a temporary shift in the hearing threshold of an exposed person.

Statement lI: Noise may adversely impact the psychological as well as physiolo \
well being of the exposed person. Q

In light of the above statements, choose the correct answer from the\z\@s given

below 0
Q»

(1) Both Statement | and Statement |l are true
(2) Both Statement | and Statement |l are false «0

(3) Statement | is true but Statement |l is false

et A N
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2[Option ID=22742]
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Sl. No.37
QBID:352275

Given below are two statements

Statement I: Millennium Development Goals were envisaged to reduce extreme poverty
by 2020.

Statement II: There were eight Millennium Development Goals.

In light of the above statements, choose the correct answer from the options gw®\

below Q
X

(1) Both Statement | and Statement Il are true (\)Q

(2) Both Statement | and Statement |l are false @

DY - | : Gewdlsq] [dDTY 72020 9% fdd TRI6l Bl 9 B GRS D1 713 |

N Wﬁ(‘&(&&u’raﬁmatﬁl

Iuddd HYEl & H Fafafed el A 9 9@ SR

(1) Quaﬁlm%l
(2) R 11 gHT HEA B
(3) BYF | §A &, fooeg U 1l 3T B

1[Option ID=22745]
2[Option ID=22746]
3[Option ID=22747]




| QBID:352278
Identify the hazards that occur only due to natural reasons.

A. Forest fires

B. Volcanoes

C. Cyclones

D. Floods

Choose the correct answer from the options given below: QQ\
(1) A and B only (bo

| (3) Cand D only @
(4) A and D only Q

31 Gl 31 Ygaru ol & daa niepfae dRol g g

A. T 3T AO

( PadC AR D
(4) BAAAARD

1[Option ID=22749]
2[Option ID=22750]
3[Option ID=22751]
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QBID:352283

Arrange the following gases in an increasing order of their contribution towards global
warming.

A. Methane

B. Chlorofluorocarbons @\
C. Nitrous oxide QQ

D. Carbondioxide
)

Choose the correct answer from the options given below

(1) A B,CD «

(3) C,A B,D 40\\"

(4) ACBD Q

ﬁmg AT IW

(1) A%C D
|@csap

3) CABD
(4) ACBD




Given below are two statements, one is labelled as Assertion A and the other is labelled
as Reason R

Assertion A: All the member countries of the International Solar Alliance are located
between the Tropics of Cancer and Capricorn.

Reason R: Intensity of solar radiation in the tropical region is high as compared to \

temperate and polar regions. QQ

In light of the above statements, choose the most appropriate answer erbQ options

given below (\)Q

(1) Both A and R are correct and R is the correct explan ig@g
(2) Both A and R are correct but R is NOT the correct 3 ation of A

(3) A is correct but R is not correct 3 0
| @ Aisnot correct but Ris correct
fRasERumE: . ()Q
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about sterectypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stersotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing

stereotypes is deceptive. 0
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Stereotypes are products of

(1) Absolute knowledge

(3) False knowledge
(4) Real knowledge
¢ YR [oud! Iafi e ?

(1) qui g

a great deal of complex information and connections. Often, the observed simplicity Q




Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicity o

stereotypes is deceptive. Q
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(2) Have strong social reasons
(3) Do not believe in such dispositions

(4) View the world positively
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which stereotypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing

a great deal of complex information and connections. Often, the observed simplici%

stereotypes is deceptive. 0
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Stpes originate from

(1) social reality

(2) Ideal social order

(3) Objective social assessment
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Read the given passage and answer the five questions that follow

Stereotypes as a form of ordering the mass of complex data that we receive from the
world are of only a particular form. These are representation and categorization of
persons in a society. These also make sense of that society through generalities,
patterning and typifications. Unless one believes that there is some definitively true order
in the world which is transparently revealed to human beings and unproblematically
expressed in their culture, this activity of ordering, including the use of stereotypes,
becomes a necessity. It is indeed inescapable.

This is a part of the way societies make sense of themselves, and hence actually make and
reproduce themselves. All such orderings are partial and limited, but do not mean untrue.
Partial knowledge is not false knowledge. It is simply not absolute knowledge. However,
there are two problems about stereotypes within this perspective. First is the buzzing
confusion of reality. This is accompanied by a belief in the absoluteness of a particular
order. It is a refusal to recognize its limitations and partiality, its relativity and
changeability. Secondly, it is not only a product of history, but also reflected in the power
relations within that society. Stereotypes are imposed by the stronger on society and the
order is grounded in social power. The western notion of stereotypes is often considered
as a short cut, points to the manner in which sterectypes are a very simple, striking, easily
grasped form of representation. Nonetheless, such a notion is less capable of condensing
a great deal of complex information and connections. Often, the observed simplicitg o
stereotypes is deceptive. %
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(1) The simplicity of stereotypes
(2) The social need for stereotypes

(3) The importance of absolute knowledge
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31)
The substance that slows down the neutrons to have controlled chain reaction during nuclear energy

production is called as

1. Controller
2. Inhibitor

4, Reducer
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[Question ID = 10259][Question Description = 136_0_GP20_SEP22_52_Q36 @
1. 1 [Option ID = 11033]

2. 2 [Option ID = 11034 «0

4. 4 [Option ID = 11036]

32) *
Which of :@o ing pollutants is considered as surrogate for eye irritation?

en dioxide
Iphur dioxide
3. Carbon monoxide
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33)
Given below are two statements

Statement I: Pesticides such as DDT are particularly disruptive to foed chains,
Statement 1l: Pesticides are very persistent and soluble in water.

In light of the above statements, choose the most appropriate answer from the opticns given below

1. Both Statement | and Statement |l are correct
2, Both Statement | and Statement Il are incorrect

4, Statement | is incorrect but Statement |l is correct
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[Question ID = 10261][Question Description = 138_0_GP20_SEP22_S2
1. 1[Option ID = 11041]
2. 2 [Option ID = 11042]

. )
Given below a o ents
Statement I arming could lead to increased release of the greenhouse gas, Methane.

1I: There is a large amount of Methane currently frozen in the permafrost in the far northern

. Statement | and Statement |l are incorrect
3, Statement | is correct but Statement Il is incorrect
4, Statement | is incorrect but Statement |l is correct
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35)
Given below are two statements

Statement |: Biodiesel can reduce Sulphur emissions significantly in comparison to gasoline,

Statement |I: Energy density of biodiesel is much less than that of ethanol. \
In light of the above statements, choose the correct answer from the options given below @
1. Both Statement | and Statement Il are true QQ
2. Both Statement | and Statement || are false (b
3. Statement | is true but Statement |l is false Q
4, Statement | is false but Statement Il is true o
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